4 - 7 B

(TE6EES)

70 R S 1

T6EE &%

f

—~

)
= —F L
|
[] = = —
A
/ N\
]
FUGRBEI oot 5 : TBEE-072-045-2R00-A10-MO
1. Yd==-072-050-1R00-A10-MO........cervrnven. RS T6EE-072-050-1REE-AL0-MO ................ I
4 (250B4W - 1SO-3019) T6EE T6EE-072-050-1RO0JJ10-MO ........cconev... Bilgk
SAE 4 5E (SA-E, 4 [RiE) TGEES T6EE-072-050-1R00-AH0-MO ................ BB
2. TeEE-QJE{EE 1R00-A10-MO................. U A = M < TP 1
-] E B T PRI i 5
042. o 1323 T6EE-072-050-1R00-A18-MO ......... e R Tl
[T — 142.4 T
050 oo 1585 S PR 0
052 oo 164.8 SAE-B (13 ) A 343 N.m 2
057 ..o 179.8 SAE-BB (15 ) £/91: 545 N.m 3
002 s 196.7 T6EE-072-050-1R00-A10 SEL % T 0
[ 213.3 Rtlahaad T g e L
Yz 227.1 R e UNC #24;
085, 269.0 T6EE MO -
3. T6EE-072-050-fIR00-A10-MO................ TR LCEED MO 00
4. TBEE-072-050-1[F00-A10-MO.......cocovvvvrrnneeee il )
"R R
gt L
£2 £1 £2 £ £2 S, Bl 2 £L
AL 0o g )| [ I | |
S




4§ B

T6EE
E 429
Al Al Al F| 1673
T G| 406.9
1| 157.9
| —
J1
Jp| 250h8
~ Y 6) K| 146.0
)
| N| 2227
. O| 2730
@P| 220
Q| 1200
R1
0] Ro| SAE-B
T6EES
L1 g E 429
N - e > F| 167.3
© | 1| 1579
\. I J1| 165.05
— ] J2| 165.10
- o = = | 146.0
I o N| 2227
<ai 7;37 L vl v ¥ ‘ o| 2730
o @P| 220
M1 Q| 1200
T > 1 0 Rl sAEB
-
e G,
K
a1l B (N.m) R~) (mm)
T6EE T6EES L1 L2 o K1x K2 H1 M1
i 1SO3019-2 (945) 1853 92.0 63.0 45n7 14h8 485 | M12x24.0
g% SAE CC (238) 1205 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10x 20.0
% SAE D&E 1853 1000 | 63.5 | 44.450-44.400 | 11.11x11.06 | 49.3 |%"UNCx24.0
L SAE CC 2113 62.2 315 Class 1-J498b, 12/24 d.p. - 17 B
3= SAE D&E 2113 75.0 48.8 Class 1-J498b, 8/16 d.p. - 13 7#
L R (mm) TLF e
Al B1 @C1 D1 2 il (TBEE) UNC (T6EES)
P1 SAE 61 - 1%" 35.7 69.8 37.1 139.7 M12 x 30.0 " 13UNC x 30.0
P2 SAE 61 - 1%" 35.7 69.8 37.1 98.4 M12 x 23.4 %" 13UNC x 23.4
S SAE 61- 4 77.8 130.2 101.6 115.0 M16 x 30.0 */5" 11UNC x 30.0




